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Three resistors, (3Q,2Q,6Q) (30,20,600 ) a slia DG

are connected in g jlay e 1 sill e 4 gin ga
series across a battery . . i
What is the equivalent resistance ARSI gl Slok
A 11Q B 36Q C 120 D 10

Three resistors, (3Q,20Q,6Q)are connected in 7 . L
o i ) e @ 30,200,600l slie &3
parallel across a battery What is the & )5l e A pasn (300,200,600 e s

equivalent resistance 5_ilall A:81<al) da gliall j)a0a La iy jlay

A 40 B 5Q C 36Q D 10

From the figure below, if
I1=4A,I3=2A,14=12A
determine the value of I2

I1=4A,13=2A,Ia=124) J&) 3
I2 dad

A 3A B 6 A C 184 D 28A

. . O e JSio o Sl e Al
2 3

Which ordaring correctly express the currentl- 0
= s $en  s2 NI Eod G okl

R1
in the brnches of the circuit in the figlire === % -
V=24v

A Lhi=h=1Is B ILi><1;5 C Ii>1<13 D Li>1>13



Which ordering correctly express the
potential drop in the three alll

branches of the circuit in the figure T

A AV1=AV,=AV3

B AV3> AV, > AV,

O Tome S An Sl il
sa SR, B5IA BN £g,a)f gagll polassl
3

AV3 <AV, < AV D AV3> AV < AV

What is the reading

of the ammeter in the
circuit shown in the figure?

) b B b 0 La
@B Uil o dam pall 501 3 L S

Two different resistances connected in series

with a battery, which of the following
statements are true in describing the

equivalent resistance of the circuit

& The equivalent resistance is smaller
than the large resistance

The equivalent resistance is equal the
small resistance

[f the equivalent resistance of eight similar
resistors connected in parallel is equal 3 Q

how much each resistance?

A 24 ()

daglial) jada MJ@L\;M@UJ! <) land)
B_yilall A81al)

B The equivalent resistance is smaller
than the smallest resistance

The equivalent resistance is greater
than the large resistance

ada gy ya ila glia dlatl A5 g glaal) cuilS 13
Bas) gl da gliall (5 ghui a8 3 () ghuad £ S (So

25Q) 10




Two different resistances connected in
parallel with a battery, which of the
following statements are true in describing
the equivalent resistance of the circuit

The equivalent resistance is smaller
than the large resistance

The equivalent resistance is equal the
small resistance

In the opposite figure,

if we remove one of
the resistors from the circuit

, What is the change in the
equivalent resistance of the
circuit and the total current
it?

=

Req decrease and | increase

S L 310309 ABKI dagliad! JAS
C C) Reqincrease and | decrease
S i g S8 doglaall 51335

A

6i ‘a“)_)lkg o géj‘,i” ULC Olializee Qll.ojlﬁ..c C,\ij
dagliall Hlde a9 (3 doeese AUl Oyl
5)5|J..U 4588

The equivalent resistance is smaller
than the smallest resistance

D The equivalent resistance is greater
than the large resistance

AVN———
20

WA slaal) Jua sl
53l (pe ila glaall (saa)

e IS e Tk ) Sl L
5_lall Aidl<al) 4 glial)
Lot Jlall ASI Ll Badig

40 SR

R3

Req decrease and | decrease
B SISl iy g 2K e il Ji

Req increase and | increase
SIHLN B39 3Kl dalgldall 3135

In the opposite figure, if we remove one of -L
the resistors from the circuit, what is the
change in the equivalent resgstance %f the T

lowing through

circuit and the total current

5l (e e slaall (gaaf W5 ) slanal) Jpa il 8
5l 1Sl 4o glaall (e JS o | phay oAl padll L
L Ll I Ll Badg

Req decrease and ! decrgase
Regincrease and | decrease

Req decrease and | decrease

Req increase and | increase

S Ll iy 2K o i) Jis
IS LI Jisg A3l dagliall o33

S Ll iy 2 e glidd) Jis

S LA Dlajg BBl dal glial! 21535




What is the scientific law underlying the Aa gl sacld agle o 85 Al alad) ¢ gilal) g2 La
@ gl <

junction rule for Kirchhoff?

Conservation of Charge A &l Jads o 418

Conservation of Energy ALkl Lada () o318

Conservation of Mass A Jaa> (938

Conservation of Momentum 35 1) 4,a€ Jaia ) 53

What is the scientific law underlying the faal) saclE agle o g ) alad) 0 gildl) A L
a5 )

Loop rule for Kirchhoff?

Conservation of Charge sl dads () 18

Conservation of Energy Akl Jads ) 5l

Conservation of Mass A aa> Hg38

Conservation of Momentum 5 1) 4.aS Laia ) 53l

‘?A R ::'\uk,c_.l.._,l.‘i.@_)‘i m‘i‘_,ua“ <als 1A
Baal gl dagliall (g5l oS o5l 120

If the equivalent resistance of four identical

resistors connected in a Series is 120Q)
how much each resistance?

A 100




Choose the safety devices that are
used to protect homes and prevent damage.

circuit breaker

resisto

A short thin piece of wire which is heated up
and melted by the flowing of electric current in
it is called

A circuit breaker resisto

Which is the current through the battery in

the circuit shown below? Re=120
NN~

sl ada g kiall dlead aadind A ola) 8 3¢l i),

voltmeter

battery

L ey Wudadialy Allud) (pe 488 )5 juacd dadid o 3l

L Al gl ol by

Capacitor

ZM‘,JJ\ 3_).1\.3.“ ‘f L)LL_\H e A Lﬁ'l“ _)\T.xﬂ\ \_}.u;\
a\.'mi

C 2.3 A




y b

. Nl . s oo .
Which of these are combination series-parallel circuits? T A e e Al Al gl i gl )

The equivalent resistance of the ] T aS A al) B ittt AsblSal) A glial)
combination shown in the figure is AV skaal) JS&d

The current supplied by the sh 3gall Juass g sall Ll

voltage source is

S AMAAAAAA
YYYYYVYY
AMAAAARA
\AAAAALLS

Short circuits occur as a result

of which of the following? Torhan i) A st il s

| U

\ { 1
| AT L N
(]

currents stopping damaged fuses damaged wires insulators touching




Two resistors in series circuit 82 2 and 47 © ' 82 §) 5 47 Q ylasslae
connected withe 45 V source . A5V L sl 3,8 dslas s oo st Gle plilosa
1- calculate the net current ?

2- calculate the AV1 and AV2

Sapladl o Ll bl Ll Hlaze Lo .8

Siaglie JS e aga)) 3,3 Lo b

Two resistors in series circuit 390 2 and 470 <2
connected withe 9 V source .

1- calculate the net current ?
2- calculate the AV4

TN
and AV2 ‘7

/

390 €2 ;4709 liaglas
7"V L) agnd) 3,0 ajlay M e sl Gle glilose

%ol o L) l,eS Ll Slane L .

Sasglie JS e syl 3,5 Lo .b

Three parallel resistors 20 Q2 , 60 )

30 O connected withe battery 90 v
a- calculate 11 12 13

® 17
” ‘l.\
b- Equivalent resistance

4
c- calculate the net current

A)
3000

20.0 ©2 4.30.0 ©2 5 .60.0 Q :loglae &3

90.0 V Langx> ay)las g g5led) le alige
jo0.0V -g_
| "co.on

3500 £9,8 e g0 US UMs L) Ll aasl L@

aalal) &20lSy) deglad) asgl b

gl s L) HLa)) asl LC




Total Current A parallel circuit has four branch currents:
120 mA, 250 mA, 380 mA, and 2.1 A. How much
current passes through the power source?

A hair dryer with a resistance of 12.0 Q and a
lamp with a resistance of 125 Q) are connected Rs
in parallel to a 125 V source through a 1.50 Q

resistor in series. Find the current through
the lamp when the hair dryer is on.

120 MA iie 3 el )Ls dnyf L (g5ls5 3,505 ST 4Led
)LoJ‘ )L_AJJ' dad J‘.LL: La 21 A 9 ‘380 mA 9...250 mA 9

12510 wogliin plisang i 120 dhaglin 525 ik
ars Jooge 125V juan g5l Gle odse

, Skl sad a5 150 Q Lb)lé.I:.a-&.agL'a.a sl e
i) e Jids wie glaadd! O L)

A series-parallel circuit has three
appliances on it. A blender and a stand mixer are in
parallel, and a toaster is connected in series as shown
in Figure Find the current through the blender. (

abb,S)) 8542 Y) e B Lle 5ot LS ,e 5505
s daidigg s5led) Gle oMose plabs LAy LS

arsl JSLIN 5 pnge sa LS . Jlsal) le ildse
R=22Q 7 VS VPR G I A
Blender




Ammeter 1 reads 0.20 A. : 020 A ael b pass 3109

a. What is the total resistance of the circuit? 95 slal) 2alSl deglad! L .@

a)Uad JAs syl 3,2 Lub
922 0 Led (3l dogla) Lzalia) 2l 554800 Haze Lo .C
San,Uad) e 5 kall 5,420 Hlazs L .d

b. What is the potential difference across the battery?

¢. How much power is delivered to the 22 2 resistor?

d. How much power is supplied by the battery?

Consider the resistors in the circuit in Jess 35000 3 Sleglall prex cilS 13)
Rank them from least to greatest specifically oy dea)) 3 baclas s, peds e S5
indicating any ties, using the following ¢riteria: 1+ adldl bl

a. the current through each polae S HLa)) ae .a

b. the potential difference\acrosi ach palie JS o,ds o gl 3,0 b




Depinding on the adjacent figure, determine _ )

the direction of deflection of the compass % || 5l il oladl aas ¢ glaall S e Tadin
needle at when an electric current passage, | ’» Jid Al gl L) 8 L S )5 )50 2ic Aa gl
of in the wire (the compass is under the . el
wire.

A to the right B to the left

The direction of the current
in this image is

out of the screen clockwise | into the screen counter-clockwise

An electric wire is looped around anailas __ < =~ S o LS jlawe Jsa b peS el Gl
shown in the image. What happens to the = Gl aae 305 LalS 5y ) dlildial duaay Vila 3 ) uall
paper clips as the number of turns of the felld)
wire increases? .

As the number of loops increases, the number of paper clips attached to the
electromagnet will decrease. . e Gaplalinally Alatall 48 ) o) cliliiall ade (amddine o5l aae o LIS

As the number of loops increase, the number of paper clips attached to the
electromagnet will not change (Sl Gaplalinally 438 jall (30 clliia 2ol Glecliladl a3 334 ) as

As the number of loops increases, the number of paper clips attached to the ..
electromagnet will also increase QLN o liaally ddsdall (3)9)l hline dde Lyl als ke ¢ wilalsdl sde 8505 ae

There is not enough information A8 Olaglas dxgs Y

Lad) uadl) Jiad A1) Adasid
Which point represent the Ly . g . :
| g sall sl il
north pole of the
A JS.:J\@

solenoid shown in thefizure?

A Point A B | PointB Point C Point D




Looping a wire connected to a battery
around a nail will form an electromagnet.
Where is the electromagnet's north pole
shown on the image to the right?

S ) lanse a4 il Juslie ells Bl (52500
uliall Madl) ) eyl L jeS ulaling
el e 3 ) sall (B Sl S

at the top of the nail

Sasall (pa (s stall ¢ 3ol 3

at the bottom of the nail

Sasall (o il ¢ 3l 8

at the center of the nail

Dbandl Sy A

along the right side of the nail

Sl 0 1 il J e

What is the statement that
describes what happens

—

if you cut this magnet in half? |

uhaling pail maall Cua gl s L

It becomes tw¢ magnets.

.‘ ..] L’\i.A !S &v-'

It becomes polarized.

It becomes two monopoles.

Olebitia lakad Al <4

It loses its magnetism.

a].. nJSS

What is the best description of
the steel nails in this image?

%) gall 3 pabusall Cim g Jumil 58 Lo

They are permanent magnets which means they _. " o 2ty Lils
have a permanent magnetic field. P gt Jla tel i b Lo Rt Lt

They are permanent magnets, which is why they

Oy lgdlaill judy Lae dala dailaa
are able to stick to each other. 4

They are ferromagnetic, so thtqyll()iecome magnetized  vic L ulaline sl A ddaizall 4408 o 5o o
ie

in the presence of a magnetic

rublie Jlaa B lee 4

They are ferromagnetic which means that they A Gubaline Lgdl i Lee Aaisall ALlE o) g0 o
are permanent magnets.




Look at this image and choose S
> i — Adlaidl) Aaaanall 3 jLadl 30 63 |
two correct statements about SN § Sl ialy 8 pall Sl
) / w511 pulaliaaly

a permanent magnet.

The field lines show that this magnet has ol Calil) sie il y (il 58 gl el J glat

Al Tforces of repulsion at the north pole.
B | The field lines show the direction a compass o~= Ay 8 lgany die Ao gill 4 53 Hedai Jaall Jashad
would point in the magnetic field. (ublinal Jlaal)
The test if something is a magnet is its ability ] . . ; . 5
C | to be attracted or repelled by a magnet. A Gulalinal 5 )85 5l i (s2ay ulalinall sy
I | of aitrachion stthesonthagain ¥ sl gt v ded dul
Choose the correct statement about \ /"0‘\
\ .
this image magnetic field A ~\| /& Jaall da ghad Caad Al dagaall 3 jlall jal
lines around a bar magnet. - _‘: e
N/
The field lines are imaginary lines, pointing in the Jiaall 8 ddass aie dlia gl olad) Jiad Agas g Ja gha
A | direction of a compass placed in the magnetic field. (ulalinall
The field lines are imaginary lines and therefore they ik yvie _ohliaall Jlaall 408 Jia3 5 d0as g Ja ghas
B represent a scalar quantity of field strength. i 2 ety
C ’srtl:gncgl(t)ﬁ.er the field lines the weaker the magnetic field EEESTERITE NOL PEWERE, S R -
D The field lines are visible lines pointing in the direction Ua sall olai) Jiad dgiia Lo ghad &

of a compass placed in the magnetic field.

A Tesla is a unit of measure for ol ks ) Al 5l Apesl) o L
which quantity?

emulaliaall Jlaall slas)

A magnetic field direction

B magnetic field intensity (shalinal Jlaal) dad
C magnetic induction e
D magnetic force Anlliaal) 3 g8l



Choose the correct direction of the magnel;ticii
force. \ it
|

A

LN 5 A9al) 5 il olatl

toward you

away from you

Choose the correct direction of the magnetic
force.

Sl 3 5 all 3 5811 sl

to the right

away from you

to the left

toward you

A straight wire carryinga 5.0 A current is in a uniform

magnetic field oriented at right angles to the wire. V«Vhe{:n\ /

0.10 m of the wire is in the field, the force onthe | 1"

fl
wire is 0.20 N. What is the strength of the/magngi‘b:‘_:'%ﬁeld
~ hO

1L

4 (V?

J R’ %
)

955 Loaie .l UJ.A $I9ee ol.:_é!,\ Ph—:-h‘ L',-u_.aJOLu.o
0.10 M Lyglua Jlonedl b gsudsall Ll

Jlowed) 3 3115 25 .0.20 N cllu) e agall als .

40x102T

0.40x10%2T

Choose the correct direction of the magnetic 1 /
force. 7

LI 5 55l Bigill sl

toward you

away from you




A beam of electrons travels at 3.0 x106 m/s througha ; il LY 3.0X105 M/S e pw oy b 5SIY) e glat
uniform magnetic field of 4.0. x10-2 T at right ] MY v L 40X1072 T el plazie aulaliis Jlos sue
g — -

angles to the field. How strong is the force actingon | =, " ® whe A8 G2 sgall aladly Jlaas Le lned) e dsla
each electron? 1 ol ) Tue,8l) JS

A 1.9%x10“ N 19107 N

A uniform magnetic field of 0.25 T points vertically | 4
downward. A proton enters the field with a horizontal |0 L, 025 T was platie Gudalide Jloo sude
velocity of 4.0x10° m/s. What are the magnitude and \ )/} 4.0X108 aadl de s Jlned) 0939 Uy - Jass¥
direction of the instantaneous force exerted on the e 335e)) anubaliisl) 352)) alasly laze Lo .M/S
proton as it enters the magnetic field? \ A Suaboliidl Jlonodl dgss aie (935,

1.6X10"3 N to the left 1.0X10° N upward

1651023 N .downward 1.0x10° N to the right

i N
|

1R
'

An electron is moving at 7.4x10° m/s perpendicular dNIY  Jlss le Bigee 7.4%105 M/S de s 09,280 oy
to a magnetic field. It experiences a force of t 1Y sad Lo .—2.0X107B N als sen) (o am - puandalii
—2.0x10713 N. What is the magnetic field strength‘ ‘ |\ 8 unplatuagh Jlas)

82x10715T : . 1.7X1078T

Which factor will not affect the strength of a solenoid?

Sols)
Y X'

\ \

number of wraps Styerrgtll ofCurrent thickness of wire core type




A copper wire of insignificant resistance is
placed in the center of an air gap between
two magnetic poles, The field is confined to the

Determine the force on the wire
(switch is open). (switch is closed

battery is reversed.
the wire has two 5.5 €2 resistors in series;

wwlﬁﬁgﬁhgwlwwbugﬂl‘u&agpi

3o3g ol B ekay LS Geeunloliio (adad

ssall sas> 19 T ojlazme alus guedanl) o susd) Lle Jlndd)

YL e US 3 (Lalesls 13lame) cllu) Lo 555400

1as¥)

Lgine rhiadd) oS Laie @

‘cL‘..'A.‘.” 33].;" Ao .b

cagyUadl GuSey rliadd) 3Me) aie .C

55Q doglae S Hlane (eoglis 59395 plindd) 3Me) e .d
.gjl,;JI e e el oMas

- What is the points that have
maximum current and the
points that have minimum

oSar La ) il i 65 A Bl s L
i L asie aaay ) Lol
-

current 372 /i
- what is the type of current? |, )" : § ) staall JSl e gl il £ g5 2aa

Stove An electric stove connects to an AC source
with an effective potential difference of 240 V.

a. Find the maximum potential difference across one
of the stove’s elements when it is operating.

b. The resistance of the operating elementis/11 2
What is the effective current? :

¢. What is the average power dissipated in the circuit?

S Bk 33,50 58 Jaae leS W35a Juan wBeed!
240 V gl Jlad

valiids aie W95 ) s ays 3,9 adl usgl .8
S laa)l L)) Le .11 Q2 LS 350l doglae gls .b
%5 50adl o asased! 5y0a)) dausie L .C




; : _ A
dELermlI‘l? '—_M B Fy PR

the following. ", e o & o ® yos L

v=36m/s J,a,JlgawhoJl.L,qua,_s .a
a. induced potential difference in the conductor o o o o le o oo (D sl jlsze b
b. current (1) o 00 0 ol o oo B idazd) ) acwdl A alazad) acda® .C
c. polarity of point A relative to point B L=050m

e ¢ © o e o o |0
e o o~0 o o o [70x1072T
®
B

..............................................................................................................................

GOOD LUCK

aall JL& agd |
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